Solving equations

Question 1 Solve the following equations:

(a) Bbm = m+28 (b) 17—-a = 43

(d) y-11=2y-9 (e) 7-3p=14-p

Question 2 Solve the following equations:

(a) 7(y-3)=18

(b) 5(3-2x) = -1

(d) 2(y+3)+3(y+4) =15 (e)

7(2m -5) = 3(3m+4)

Question 3 Solve the following equations:

@ 2.5 ® Z% -
@ L-5=or @ z+g =%z
Question 4 Solve the following equations:

@ 23 b) -
@ +3=3 @ £-2-1

(¢)

®

(e)

(e)

®)

(e)

@

3x+5 = x+13

15-4b = 2-5b

4~a = -5(a+3)
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N, Solving problems with equations

By first setting up an equation, solve each of the following problems:

1

The sum of three consecutive integers is 471.
Find the middle one.

In a class of 36 students there are 12 more
girls than boys. How many girls are there?

A triangle has a perimeter of 47 cm. If one
side is 9 cm longer than the second side, and
the third side is 4 cm shorter than the second
side, find the length of the second side.

9 Equations - Answess

1

(@ m=7 b)) a=-26 () x=4
@ y=-2 (e p=-3%2 () b=-13
@ y=5% (®x=1% () a=-42
(@ y=-2 (@ m=92 @® r=-3
(@ a=3 (b) x=——1—§— (c) m=4%
(@ r=-4 (e) x=—-2% ) y=2

!4 (a) x=8%

5 (a) p=32

6 (a) S=90

The length of a rectangle is 5 more than
twice the width. Findits dimensions if the
perimeter is 64 cm.

In a yacht race the second leg is twice as long
as the first, while the third legis 10 km longer
than the second.

Find the length of the second leg if the race is
run over a distance of 15 km.

® p=-22 (@ m=13
@ x=3% (e g=80 () n=15%

b) n=38 () d=—-5%
(d) q:14% (&) x=11lorx=-1
) x=22

®) v=1552 (0 V=40192

@ C=35 (e) V=266295 (f) S=1440
(g) x=-1or -% () R=15
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(2 2p+127 (h) 8m-2 < 13 @ §+3<5

U TN N T S W AN T TR TS TR NK T T B T ST O S T

. m-3 x

G) 2(8y-2) = 14 @ Z2=<2 W F+x<3
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(m) Bx+8 = x+21 (n) 23x>11 ©) 2x> 5x

12 Solving problems with equations
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15 Inequations — ANSWERS =~

(a) y>5 (b) <8
Qe s = I © il
56 78 “101 23 34567
(d n>10 (&) x<-6 ) b>4
10111213 -10-6 5 7 - 4567
(@ p>3 th) m<5 G x<4
3458 123 4 01234
G y=3 k) m<11 I x<2
3456 %éélbl?,?'zg—:1612
(m) x247 (@ x<-7 (o) x<8%
4 5 &8 ~11-10 -9 -8 -7 N




